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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)
(ii)
(iii)
(iv)
(v)

(vi)

(vii)

gHl @vel & gyt 39T S § |
Yo% Y99 & Ui 3% 393 e+ few 7w §

TeT G 1-5 T 17 - 21 37 TqO0AF T97 &, FH I9F 37 1 3%
8 | 3797 IW Fa & @y § & T & :

Y97 G 6 — 10 3K 22 - 26 TITIHS F97 8, 577 59% & 3 3% & |

J% @ I GEFA 60 V=G G HYE T EAr FqMeT |

TvT G 11 — 13 3% 27 - 29  TqovEE 79 8 o 9% & 4 3%
g | 79% & I GEIFar 70 Vi @ 3% g g FRT |

§v7 G 14 - 16 3K 30 — 32 FEIHF IR i 599 8 597 99% &
6 3% & | 9% F1 I GHar 100 Vi<l § 3% 75T &7 TR |

I GRS FoT TS 814 FIRT T I FW & TE G & Hitd &
few s17 FIfgT |,

General Instructions :

@)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

58/2/1

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1 -5 and 17-21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

Questions No. 6-10 and 22-26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed
60 words each.

Questions No. 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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PEARSON

Tus A
edJ

uriter SECTION A

1. gufy ydwme =i gfiamr ST | 1

Define macro economics.

2. TS ARMM a% 47 fe@mr @ ? S

What does an indifference curve show ?

3. g ra & gRemr S | 1

Define marginal cost.

4., T U@ G9R ¥ fFof & o § T Fimd | & 9] @ fEa off A 99 g
2, aiteq goif (3MM) & SRR T @l 8 ? I

What is the behaviour of average revenue in a market in which a
firm can sell any quantity of a good at a given price ?

5. FcuysR & gty S | 1
Define oligopoly.

6. RV FAT g THARY % I WG 9% IEad 4 g g | 1

Explain, giving reason, why production possibilities curve is concave.

7. TS SUUH dael o gegel X 3R Y 1 Ui e 7 ik 9% e A @ 1 X @
FHd dg Al 8 | YT favewu i EEar ¥ SU6RE S SfAiRar §HEEe | )

A consumer consumes only two goods X and Y and is in equilibrium.
Price of X rises. Explain the reaction of the consumer with the help
of utility analysis.

58/2/1 3 PHI0:



PEARSON

T :

T T @ it e ® g W O @ da e

(1) I,
(i) T&H, T
(iii) 3= & |

Draw supply curves showing price elasticity of supply equal to
(1) Zero,
(i1) one, and

(iii) infinity throughout.
Frafefiaa 597 deac7 T Thamaal & fog 397 &7 8 & @ W 8 |

Note : The following question is for the Blind Candidates only, in lieu

10.

of . No. 8.
qoiear deRR O s e daw o ¥ @ 4 R

Distinguish between perfectly elastic supply and perfectly inelastic
supply.

TS 3IEEH FaEE YE FH F (AT 67 IR a1 ¢ IR WE & W Fawy @
@ T B | $W GOl & IMUR W 3fafifed SR WP Al S e Sy |
YUFET | '

A producer borrows money to start a business and looks after the
business himself. Identify the implicit and explicit costs from this
information. Explain. :

s o sfqant R § o9 3ar’ F o geemR |
rgar
THfeis aeR § Sar fove’ & ufomm gosmse |

Explain the implications of ‘homogeneous products’ in a perfectly
competitive market.

OR

Explain the implications of ‘differentiated products’ in monopolistic
competition.

58/2/1 4



11. 93RT {5 % sHfmH 3% #=&i o ¥ ¢ 9 F iR TorEt g 7 | SHEmE 9%
faReioT &1 W § SUARH Hde & I SRy | 4

Explain why is an indifference curve downward sloping from left to
right. State the conditions of consumer’s equilibrium in Indifference
Curve Analysis.

12. T IUARA T 11 W 3P W %G F 13 3HE GlEd § | 59 HHd 98 W T 13
3a TG @ S 2, 9% 11 TR Wied € | = &y g} o $ fiv de g
FIT | T9 I & YR W HT 9% & R W feoqofi of Ffew | 4

A consumer buys 13 units of a good at a price of ¥ 11 per unit.
When price rises to ¥ 13 per unit he buys 11 units. Use expenditure
approach to find price elasticity of demand. Also comment on the
shape of the demand curve based on this information.

13. fd 3@ W @ & § wRadd 3 ¥ 39 A & UG W T JWG IS § 2
HHEART | . 4
ga '

g (3W) ¥ w1 SR ¢ 2 diuid gonfa sk s weifa & 9 geey
FART |

How does the change in tax on a product influence the supply of that
product ? Explain.

OR

What is revenue ? Explain the relation between marginal revenue
and average revenue.

14. frfafed § 98 FIT . 6
(i)  wiw ¥ uRade o ‘Wi wmr ¥ ofEde
(i) @9 ¥ 3R awe W@
Explain the distinction between :
(1) ‘Change in demand’ and ‘Change in quantity demanded’

(ii) Budget set and Budget line

58/2/1 5 . P02



15.

qiT :
Note :

16.

qﬁaﬁw'%ﬁw%wwquﬁqﬁqﬁﬂﬁiﬂwi FART, | FAF T &
98 FROT St GHIRT | {EfET & YA ST |

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use diagram.

ffefaa 397 dac g ahienaal & o0 397 967 15 % @& W 3 |

The following question is for the Blind Candidates only, in lieu
of Q. No. 15.

Tiad Ul & fEH & eHER Fa 3w ¥ uRadd & X 9aT | Fedd TR
& R FROT ff gHIRT | aifes @ oS i |

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use a
schedule.

TS 9% H ISR Gged # g | a9R ¥ g aret sfafkaell # gwen angme, s«
()  ufd § “&H” sm ST
(i) ®OH ‘SR’ 7 WY |

A9

TS a%] H 99K Gqed § 8 | 6 R o ¥ uw-wg “gfg” A 8 afed $ma
ﬁaﬁﬁqﬁaﬁqqﬁmlmﬁm%@mélmﬁwmwml

Market for a good is in equilibrium. Explain the chain of reactions in
the market when there is

(i) “decrease” in supply.

(i1) “decrease” in demand.

OR

Market for a good is in equilibrium. There is simultaneous “increase”
both in demand and supply but there is no change in price. Explain
how is it possible. Use a schedule.

58/2/1 6



PEARSON

TUE &
edJn/TE“ SECTION B
17. Ysima asgeti @ aRamn A |

18.

19.

20.

21.

22.

Define capital goods.

Ya§ =R & 9RumT e |

Define flow variables.

% TE ¥ F A 8 2
What is bank money ?

T HL hl YA GfT |

Define indirect tax.

e fafa @@ ¥ w7 sfmg 2 2

What is a flexible exchange rate ?

ISR Fmd R fae 1eg gfs 7@ Fi

i) Tegdl orrg (T)

(i) W& d giEdd %)

(iii) SR TR (3ER)

(iv) 3IdRA & 9T THR dHd (X)
(v) T I )

(vi) oT9d Gt &1 3TN (3)

58/2/1 7

10,000
1,000
750

40
2,000
3,000
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PEARSON
ed\/‘ Find out Net Value Added at Market Price :

urife
(1) Intermediate cost () 10,000
(ii) Change in Stock () 1,000
(iii) Output sold (units) 750
(iv)  Price per unit of output (%) 40
(v) Import duty (%) 2,000
(Vi) Consumption of fixed capital (%) 3,000

23. X F wE@ H L FE GEIRT |

Explain the ‘unit of account’ function of money.

24. TH & @i § U o R S9d 9% @ifae SR 39 | gEar fag feEwe |

Draw consumption curve and saving curve in a single diagram and
mark the ‘break-even point’.

25. frafafea & fawr @ #WC
TP 3T = ¥ 800 |
w@WEd (FFaT) 399 = T 50
gmia 3T w9 = 0-8
Find ‘investment’ from the following :
National income = ¥ 800
Autonomous consumption = ¥ 50

Marginal propensity to consume = 0-8
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26. TEN o ¥ U@ &g IR GG =57 F A" AR Tdq5T | FAF F OISR
ST | .
Jrgat
I H FEHAAE QW FA A WHFR ool H 9w THgeET |

Distinguish between revenue expenditure and capital expenditure in a
government budget. Give example in each case.

OR

Explain the role of government budget in reducing income
inequalities.

27. FRUT IO §C GHIRC fF TPF I Wod gHg frefaiad & 9g 3 FEeR fma
IS 16 ] P
() wH N IR YoF H gEE
(i) &4 §R S H P

Giving reason, explain how the following should be treated while
estimating national income :

(i) Payment of excise duty by a firm

(i1) Payment of interest by a firm

28. I d% F G fiaa FR IR |
AT
‘gifafys werar U 3R Guifre Red oUW %S9 SR SHERT |
Explain ‘Bank of issue’ function of central bank.
OR

Explain the distinction between ‘Statutory liquidity ratio’ and ‘Legal
reserve ratio’.

29, T 5 § ‘MAHF HRT & FEUNON FEIRT | IHE T U TAd 8 2

Explain the concept of ‘primary deficit’ in a government budget. What
does it indicate ? '
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30. (37) ISR F9d | frad T 39K IR () TFa THF ST 3T Fid Y :

(i)  #eigd a9 aaq

() e

(iii) facel = free =] (PoieR) Eawon
(iv) {9 gy =

(v) It

(vi) o9

(vii) foell &t faad srs o™

(vii)) 3T=a dSt &1 3THm

(ix) TR g s e siem
(x) HHAIE SR Qo e e
(xi) =

Find (a) Net National Product at Market Price and (b) Gross

National Disposable Income :

(1) Wages and Salaries

(i1) Rent

(iii) Net current transfers to abroad

(iv) Net indirect tax

(v)  Royalty

(vi) Profits

(vii)) Net factor income to abroad

(viii) Consumption of fixed capital

(ix) Social security contribution by employers
(x)  Social security contribution by employees

(xi) Interest

58/2/1 10

R #g)
700
100

10
70
50
300

(=) 20

120
60
40

400

(X crore)
700

100
10

70

20
300
(=) 20
120
60

40
400
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urte”
31.

32.

‘FIEHIG A H TR GHART | THH FH FA H G dER FH AR F
e ff THIRT |

Agar
‘St AT F SEUROT NIRRT | 39 %W & Sk U H qffer o
HHERT |
Explain the concept of ‘deflationary gap’. Also explain the role of
‘open market operations’ in reducing it.

OR

Explain the concept of ‘excess demand’. Also explain the role of ‘Bank
Rate’ in reducing it.

faeeft fafmrr &t afm it qft 5% F -3 Bd FART | FRO 9 g R fafm
R 3R fael fafma & o & ¥ 9@y 9o |
Give two sources each of demand and supply of foreign exchange.

Giving reason explain the relation between foreign exchange rate and
supply of foreign exchange.



